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Attitude  Piease note ** indicates that you should use your calculator

Factor completely: 3x°y° —7xy° —6)°
3 2
Solve for x: 2(3 - 7x) =1 8(7x - 3)

+7i 5i

2i 1-i

2
Simplify the expression:

Using Descarte’s Rule of Signs,
determine the number of positive and
negative roots:

f(x)=x5+x4—3x3—5x+3

Graph and label all intercepts:
g(x)=-4(x-7)" +25

Graph and label all intercepts:

g(x)=_?x—2

Graph and label all intercepts:

g(x)=2-Vx+9

Graph and label all intercepts and state
the domain: g(x)=-1+log, (x+ 4)

Graph and label all intercepts:
g(x)=x"-8x* -20x°

10.

11.

12.

13.

14.

15.

Graph and label all intercepts:
g(x)=—2x+4|+6

Using interval notation, state the
domain of the rational function:

f(x):_xzi

X +x-56

Using interval notation, state the range
of the exponential function:

k(x) =442

Using interval notation, state the range
of the quadratic function: -

w(x)=-8x" +16x+5

Find the General Form of the equation
that is perpendicular to the line

2
iTx = _E(y —5) and passes through

the point(—l,12).

Given
g(x)=3+2x" and h(x)=3x-1

evaluate g(h(x))

ATTITUDE
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Attitude  Please note ** indicates that you should use your calculator

27. ** Find the polynomial of degree 3 that

. I 2
- has the given zeros: —; —5; —
2 3

-~

N 28. Given f(x)=x+x*~7x+65
evaluate f(2—3i)

29. Solve for x: (4\/5)3H = %

30. Graph, label all intercepts and state the
| range of the exponential function:

?‘ I(x)=9-3"

To The Sunshine And
e The Shadows.
1 Keller ~

ATTITUDE
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DREAMS Please note ** indicates that you should use your calculator

16. Graph and label all intercepts:
. Ix-1,x>0
(x)=

J
Sx+1; x<0

Q/Sc_—l; x>0
=5x+1; x<0

17. Given j(x):{

a. Evaluate j(4)
b. Evaluate j(~2)

18. ** Graph the polynomial function
b(x)=4x"-123x" +121x-30

a. State all x- and y- intercepts

b. State the relative maximum and
relative minimum points

c. Using interval notation, state
where the function is increasing
and decreasing.

19. Determine whether the graph is even,
odd or neither- show your work for

xz

credit: h(x) = 4
x

20. ** Find the average rate of change of
the function f'(x)=x*-3x-3 from

x=10.7 to x,=-9.8.

21. Graph the function
w(x) =—x>+7x—-12 and using
interval notation, determine where the

interval(s) for which w(x) <0

22. Given f(x>=4_3x
g(x) =16-9x’
a. Evaluate f(x)-g(x)
S(x)
g(¥)

c. State the domain of

b. Evaluate

/(%)

2(x)

23. Graph the function: j(x) = [Ix]] +4

24. Write the GENERAL form of the
equation of the parabola that has

vertex (6, —7) and whose graph passes

through the point (3,-2)

25. State the center and radius of the circle:

x*+y*+10x-10=0

26. Sketch the graph and label all
intercepts: r(x) = 2x(2x —3)(x + 4)3

DREAMS
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Imagination

Factor completely:

5xtyt +7x°yt —6x?yt
Solve for x: —?1(5 - 2x)2 = 2(2x — 5)

+3i 4i

i 1-2i

Simplify the expression:

Using Descarte’s Rule of Signs,
determine the number of positive and
negative roots:

f(x)=—2x5—x4 +3x° =5x+3

Graph and label all intercepts:
g(x) = 9(x+2)2 -25

Graph and label all intercepts:
g(x)=-8x-2

Graph and label all intercepts:

g(x)=1-vx-9

Graph and label all intercepts and state

the domain: g(x)=3-log, (x+1)

Graph and label all intercepts:
g(x)=x"-5x"-24x

/_

Please note ** indicates that you should use your calculator

\—W

10. Graph and label all intercepts:

11.

12.

13.

14.

15.

g(x)=-2[x+3[+2

Using interval notation, state the
domain of the rational function:

f(x)= x’-5

x® +3x

Using interval notation, state the range
of the exponential function:

k(x) =—4+3¢"°

7

Using interval notation, state the range
of the quadratic function:

w(x)==2x"+12x+5

Find the Standard Form of the equation
that is perpendicular to the line

2
3x= g(y - 1) and passes through the

point(—l 1,2) .

Given
g(x)=1-2x" and h(x)=x-6

evaluate g(h(x))

Imagination
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Imagination Please note ** indicates that you should use your calculator

—_— O -0~ 7 -oiES Md YOU STIOUIG USE yOul taltiator
m
27. ** Find the polynomial of degree 3 that

2 5
has the given zeros: 7; 5; —

3

28. Given f(x)=x"-7x*+13x-3
evaluate f(2~\/§)

3x-1
29. Solve for x: ﬁ =l
4 2

30. Graph, label all intercepts and state the
range of the exponential function:

I(x)=-3+3""

Imagination is more important
than knowledge. For knowledge
is limited to all we now know and |
understand, while imagination

- embraces the entire world, and | .
~allthere everwillbetoknow
and understand.

' Albert Einstein
"/ wwwgcckoandfly.com

Imagination
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Life Lessons Please note ** indicates that you should use your calculator

PR LSS
M

16. Graph and label all intercepts: 21. Graph the function w(x) =9—x? and
lx -5 x>0 using interval notation, determine
](x) =42 where the interval(s) for which
3.9
-x +1; x<0 w(x)<0
1
‘ —x-5;x>0 f(x)=4x-5
17. Given j(x)=12 22. Given ,
41 x<0 g(x):25—16x
a. Evaluate j(4) a. Evaluate f(x)-g(x)
b. Evaluate ](—2) b. Evaluate i(_x)_

g(x)

x
c. State the domain of M
18. ** Graph the polynomial function g(x)

b(x)=2x"+7x"—4x* -27x-18
a. State all x- and y- intercepts _
b. State the relative maximum and 23. Graph the function: j(x) = [[2x]]
relative minimum points
¢. Using interval notation, state
where the function is increasing

, ] 24. Write the standard form of the
and decreasing.

equation of the parabola that has

vertex (2,—4) and whose graph passes

19. Determine whether the graph is even, through the point (9,0)

odd or neither- show your work for

credit: h(x) =4
25. State the center and radius of the circle:

x*+3y*—6x+8y—-10=0

20. ** Find the average rate of change of

the function f(x) =x*—x-1 from

26. Sketch the graph and label all
x, =45 to x,=3.1. s .
intercepts: r(x) =-Xx (x—3)(x+4)

Life Lessons
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Regulars Spring Projects

TN

— Big Bird (3 pages)

— Cookie Monster (3 pages)

— The Count (3 pages)

— Oscar (3 pages)

— Answer Key (15 pages)
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SPRING PROJECT Pre-Calculus|zo16

3x-2
9. Solve forx: | —= =16"
[4@ )

10. Solve for x: 2** —4(2* ) =32

11. Solve for x over the interval 0 < x < 27 : \/?:cos 3x+ x/gsin 3x=0

12. Graph one full period J(x) =4+ 2sin(_?x) and label the maximum and minimum points

13. Graph one full period J(x) =-1+ tan_(2x) and label the relative maximum and relative

minimum points and all asymptotes

3
14. Simplify the expression: cot(arccos (—ED

15. The terminal side of @ lies on the given line 3x +4y = 0 in the fourth quadrant. Find the coté
by finding a point on the line.

16. Find the complement and supplement of the angle 1.03" Leave your answer in terms of 7

17. Using your calculator Solve for @ such that@ €[0,27): sinf =.573

Pagez Blg BlI‘d



SPRING PROJECT Pre-Calculus| 2016

1. State the domain, graph the rational function and label any intercept, all asymptotes and any
2
xX°=x—-6

point of discontinuity (if any): R(x) = 16
x -—

2. Graph the rational function and label any intercept, all asymptotes and any point of
1-x’
discontinuity (if any): R(x) =
x+2
3. Graph the rational function and label any intercept, all asymptotes and any point of
x—1
discontinuity (ifany): R(x)=————
(x) 2x* —x-3

4. Using interval notation, solve the inequality: x(2x - 5)2 > 2x(5—- 2x)

-3 2
x—-4 x-5

5. Using interval notation, solve the rational inequality:

6. State the domain, graph and label all intercepts and asymptotes:T(x) =1+log, (2—x)

N

Graph and label all intercepts and asymptotes: 7' (x) =—442*1

o

Solve for x: ln(x—4)—ln(2x—3) =-1

Pagel COOKIE



SPRING PROJECT Pre-Calculus|{z016

18. Using your calculator, convert 314.232° into degrees minutes seconds

19. Using your calculator, find the arc length and the area of the sector whose radius is 8cm and

central angle is 70° . Round your answer to three decimal places.

20. Using your calculator, find the maximum and minimum points and intercepts over the interval

[0,27) for the trigonometric function: P(x) = 63 cosx+ 6+/3 sin x

Page3 COOKIE
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10.

11.

12.

13.

14.

15.

16.

17.

SPRING PROJECT Pre-Calculus|z016

2 5O 1 3x-2
Solve for x: | — =27
%)
Solve for x: 3* —10(3" ) =-9

Solve for x over the interval 0 < x <27 : cos2x — x/gsin 2x=0

Graph one full period J(x) =4-2sin3x and label the maximum and minimum points

Graph one full period J(x) =3+ ZSec(—2x) and label the relative maximum and relative

minimum points and all asymptotes
Simplify the expression: sin (arctan (—4))

The terminal side of & lies on the given line 3x —4y =0 in the third quadrant. Find the coté
by finding a point on the line.

Find the complement and supplement of the angle .23" Leave your answer in terms of 7

Using your calculator Solve for 8 such that@ €[0,27): secd =-2.873

Pagez Count



Using interval notation, solve the rational inequality:

SPRING PROJECT Pre-Calculus|2016

State the domain, graph the rational function, label any intercept and all asymptotes and check
2x*-x—6

if the functions crosses the horizontal asymptote: R (x) =— T
x —

Graph the rational function and label any intercept, all asymptotes and any point of
x+2
9_ 2

discontinuity (if any): R (x) =
X

Graph the rational function and label any intercept, all asymptotes and any point of

2
-x-2
discontinuity (if any): R(x) X TATe

Using interval notation, solve the inequality: x(2x - 5_) > 6x> (5 — 2x)

-4
<
x=2 x-7

State the domain and graph and label all intercepts and asymptotes: 7'(x) = 4 +log, (—x)

Graph and label all intercepts and asymptotes: T(x)=-4+2"

Solve for x: ln(x+1)—h1(2x—7) =-1

Page1 OSCAR



SPRING PROJECT Pre-Calculus | 2016

18. Using your calculator, convert 24.256° into degrees minutes seconds

19. Using your calculator, find the arc length and the area of the sector whose radius is 7cm and

central angle is 50" . Round your answer to three decimal places.

20. Using your calculator, find the maximum and minimum points and intercepts over the interval

[0,27) for the trigonometric function: P (x) = 6+/3 cosx — 6sin x

Page3 OSCAR
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: } Honors Fall Projects

— Dog (4 pages)

— Lion (5 pages)

— Panda (4 pages)

— Sunshine (4 pages)

— Answer Key (17 pages)

Sometimes you need to look
_ atlife from a different
- perspective
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10.

11.

12.

13.

14.

15.

16.

17.

18.

Graph and label the end point and all intercepts: h(x) =-2++/8~-8x

Graph and label all intercepts and asymptotes: w(x) =36-36""

Graph and label all intercepts and asymptotes: e (x) =4+1Inx’

Graph and label all intercepts and asymptotes: e(x) =4+log, (—4x)

l —X
Graph and label all intercepts and asymptotes: p(x) =4 2(—)
e

.22 .35

. i —5i
Simplify the expression and write your answer in standard form: 127
. +1

Given j(x) =4+2¢*" evaluate j' (9)
Divide: (6x3 —13x* +11x —4)+(x2 —3)
Solve for x: 12(x* ~25)' +48(25-x)=0

2
2x —3x—9>

Using interval notation, solve for x: 3 >
3x°-8x-3

O
S

llD

rage2 Precalculus Honors
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27. Find a polynomial of degree 6 that has the given zeros: x =

28. ..

29. How long would it take to double your money at an annual interest rate of 3.4% if your money

30. Using interval notation, solve for x: =2 <

MEDICINE The numbers ¥ of freestanding ambulatory

care surgery centers in the United States from 2000

through 2007 can be modeled by
2635.11

1+ 14,215 0808

y = 2875 + 0g1r=7

where ¢ represents the year, with 1 = 0 corresponding
o 2000,  (Souwrce: Verispond

{a) Use a graphing utility to graph the model.

(b} Use the mrace feature of the graphing wtility to
estimate the year in which the number of surgery
centers exceeded 3600,

was compounded monthly?

4—3x<3

—2—,4,31',14—21'
3

O
S

(lD

raged Precalculus Honors



10.

11.

12.

13.

14.

15.

16.

17.

18.

Graph and label all intercepts: h(x) =-2+38—x

Graph and label all intercepts and asymptotes: w(x) =2~ SX2

Graph and label all intercepts and asymptotes: e(x) =2+ ln(x —3)

Graph and label all intercepts and asymptotes: e(x) =2+log, (x + 4)
4

Graph and label all intercepts and asymptotes: p(x) =2-6e™"

Simplify the expression and write your answer in standard form:

Given j(x)::3e”'2 evaluate ;' (9)

Divide: (6x3 -19x* +16x — 4) + (x2 - 2)

Solve for x: 12(? —9)3+3(9—-x2)=0

4x* -8x-5
Using interval notation, solve for x; ————= < ()

4x* -1

Z
S
a

rage2 Precalculus Honors
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27. Find a polynomial of degree 6 that has the given zeros: x =2,1,4i,1—i

28. Write a function V(x) that represents the volume of the box

a. Determine the domain of the function V(x)

b. Sketch a graph of the function and estimate the value of x for which V(x) isa

maximum.

#

on a wim This is w L
from the ¢

shown in the

Z
S
-

raged Precalculus Honors
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Using interval notation, state the domain of the function: f(x) =

Using interval notation, state the domain of the function: j(x) =log, (2x3 +5x* =2x— 5)

2
=x
e’ ; x>0

Using interval notation, state the domain of the function: l(x) =
' 4-— 3/;; x<0

Using interval notation, state the range of the function: m(x) =6x"-12x+5

Using interval notation, state the domain of the function: n‘(x) = Seﬁ

Using interval notation, state the range of the function: p(x) =—1+4¢"!

2
x°+9
Graph and label all intercepts, asymptotes, and any point(s) of discontinuity: v(x) = —9
X+
. . o 9x’
Graph and label all intercepts, asymptotes, and any point(s) of discontinuity: v(x) = T—Z—
) . X" +4ax

“PANDA"

ragel Precalculus Honors
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19.

20.

21.

22.

23.

24.

25.

26.

Write a rational function f(x) that has the specified characteristics. (There are many correct

answers) Vertical asymptotes: x =8 Horizontal asymptote: y =—1 and zero: x =2,6

. . . 2
Using interval notation, solve for x: 25x* < x? (3x—1)

State the upper and lower bound of the real zeros of f(x) =x —4x* -5

Using Descarte’s Rule of Signs, determine the possible number of positive and negative zeros of

the function k(x) =x +3x*+6x* +x*> —5x+1

Solve for x: 2(4*)~19(2X)+24=0

“PANDA”

Solve for x in terms of e: Inx —Jn(2x - 4) =6

In7=D .
if express logg 7 in terms of D and G.
In2=G

Simplify the expression 6410&6(\/3:)

rage3 Precalculus Honors



and oppertanities

where ofliers
see uhstacles,

sunshine wherse

others see shadows
and oppertunities:
where others

see obstacles, o

x—4
? 1. Using interval notation, state the domain of the function: f(x) = \/—
J X

3

2. Using interval notation, state the domain of the function: j(x) =log, (x3 -5x* —3x +15)

3. Using interval notation, state the domain of the function: l(x) =

y "~ 4. Using interval notation, state the range of the function: m(x) =-3x2-12x+1

“SUNSHINE”

- 5. ‘Using interval notation, state the domain of the function: n(x) =—1+5¢>
: 6. Using interval notation, state the range of the function: p (x) =4le™!
i x*+x

7. Graph and label all intercepts, asymptotes, and any point(s) of discontinuity: v(x) = PRI
, x°—2x

2

x°+4

Graph and label all intercepts, asymptotes, and any point(s) of discontinuity: V(x) = T
—O9x

%

ragel Precalculus Honors
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19.

20.

21.

22.

23.

24,

25.

26.

May you see "

sunshine swheee

olliers lows 0

and opportanit
where others

see obstarles.

Write a rational function f(x) that has the specified characteristics. (There are many correct

answers) Vertical asymptotes: x =0 and x =1 Horizontal asymptote: y =2 and zero: x =2

Using interval notation, solve for x: x* <81

State the upper and lower bound of the real zeros of f(x) =x'-3x-6

Using Descarte’s Rule of Signs, determine the possible number of positive and negative zeros of

the function k(x)=x"+3x" —6x’ —=x* = 5x -1

Solve for x: 3(9")+9=28(3")

Solve for x in terms of e: In x + ln(2x—3) =4

In7=D

If . express In AEL] in terms of D and G.
In2=G 4

Simplify the expression 8]°g2(J3_x)

“SUNSHINE”

rage3 Precalculus Honors
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Using interval notation state the range of the trigonometric function:

w(x):2—5csc(2x—12’-)

Graph and label all intercepts, asymptotes (if any), relative maximum points and relative

minimum points: o(x) =1-2csc (—725— x)

Graph and label all intercepts, maximum points and minimum points: w(x) =3cos4xsin4x
Graph and label all endpoints: Z(x) = ;r —arctan (x —.1)

Graph and label all asymptotes and intercepts: f(x) =3-log, (3—x)
3

Solve for x; 2%**!' =2 =3

X

e’ +e

-X. X

—e

Solve for xin terms of y: 2y =

ragel ALMOND JOY



14.

15.

16.

17.

18.

19.

20.

SPRING PROJECT HONORS| 2016

Find the area and solve for all missing sides and angles: <4 =135" and <B =30’ and side
b =20cm [Round to two decimal places.]

Evaluate the expression: tan [% +sin™ (g)]

1 —
Evaluate the expression: tan (5 arccos —5-)

/4 S (S . [«
coS| — |cos| — |+sin| — [sin| —
. 12 12 12 12
Evaluate the expression:
. (Tr V4 T . ﬂ)
sin| — |cos| — |—cos| — [sin| —
( 8 ) [8j ( 8 ) (8

. sin x coSXx
Evaluate the expression: - —CoSXx
l-cotx tanx-1

The half-life of strontium-90 is 28 days. How much of a 10g sample will remain after 10 days?
[Round to two decimal places.]

' i . . 2x 1
Write an algebraic expression that is equivalent to the expression cos (arctan?— arcsin —)
: x

rae3 ALMOND JOY
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e +1
|

7. Solve forxintermsofy: 2y =

8. Solve forx:log ; G%j%) =4

9. Solve forx over the interval x €[0,27) 4sin®2x+ 4sin®2x +cos2x—2cos x =2
10. Solve for x over the interval x €[0,27) 4cos2xsin® x = cos2x

11. Solve for ALL x: 3sin3x — \/§COS3x =0

(‘[an2 x+ 1)(0032 x—l)
12. Simplify the expression:

, Page2 HERSH EYS
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"SPRING PROJECT HONORS

37

. -2 1
18. Given sin# = — and —2—£u <2rx findcosu, cos2u, cosgu

19. The half-life of strontium-90 is 14 days. How much of a 25g sample will remain after 10 days?
[Round to two decimal places.]

' 2x .1
20. Write an algebraic expression that is equivalent to the expression cos(arc cot? + arcsin —]
_ . : x

rred HERSHEYS
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~ SPRING PROJECT HONORS

7. Solve forxintermsofy: 2y =e* —e™

8. Solve forx:In(2x+7)-In(3x-1)=2

9. Solve for x over the interval x €[0,27) 4sin®2x+cos2x—2cos’ x =2
| 10. Solve for x over the interval x €[0,27) tan2xsec’ x = 4tah 2x

11. Solve for ALL x: J5sin3x - J5cos3x=0

(tan2 X+ l)(l —cos’ x)
12. Simplify the expression:
cos (ﬁ - x)

Pagez M & M,S
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—2 3

. . !
18. Given tanu = —3— and —2— Su<2rx findsinu, sin2u, smgu
19. The half-life of strontium-90 is 30 days. How much of a 8g sample will remain after 17 days?

: : Tx 4
20. Write an algebraic expression that is equivalent to the expression cos(arc sec—s— +arctan —J
X

Page4‘ M & M,S
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8. Solve forx:In(2x+1)+ In(3x-1)=2

9. Solve for x over the interval x €[0,27) 10sin® x—12sinx=7

10. Solve for x over the interval x €[0,27) 4tan2xcos® x = tan 2x

11. Solve for ALL x: /5 sin® x —~/5 cos® x = 0

tan xsin® x
1+cosx

12. Simplify the expression: tan x

sin2x cos2x

sinx cosx

13. Simplify the expression:

rage2 Snickers
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Worksheet

— Trigonometric Information Sheet (3 pages)

— Sherm’s Happy Homework (15 pages)

1 o #5 (3 pages)
; o #9 (2 pages)
o #14 (3 pages)
o #19 (3 pages)
o #30 (2 pages)
o #31 (2 pages) |
— Additional Chapter 5 Problems (4 pages)




Trigonometric Information Sheet
m

Reciprocal Trigonometric Functions Special Triangles

3-4-5; 5-12-13; 7-24-25; 8-15-17
sinfcscd =1

sinf =

cscd

cscl =

sin @
cosB@secf =1

cosd =

secd

secO =

cosf
tanfcotfd =1

1

cotd

cotH:—L—

tan 0

tan@ =

Even vs. Odd Trigonometric Functions

sin(-0) =—sin(6)
csc(—O) =—csc(6)
cos(—6) =cos()
sec(—0) =sec(0)
tan(—0) = —tan(0)
cot(-0) =—cot(0)

Pythagorean ldentities

sin’ (8) +cos®(6) =1
tan” (6)+1=sec’(6)
1+cot? () = csc? ()

Co-Functions

Tuesday, January 26, 2016 2|Page
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’ Sherm’s Happy Homework #5
]
3 1. Factor completely: x> +x—10
2. Factor completely: 2x° +x—10
‘[,
:' 3. Factor completely: x’y —27x° y*
4. Factor completely: x° +5x* —4x—20
3 All of your work must be your
} SPIRAL notebook
‘} 1o
’ 5. Factor completely: 36x2 —9x? 8
\ 6. Factor completely: 12x” +7x—10
7. Factor completely: 7x° —23x+6
8. Factor completely: 10x* +21x—10
9. Factor completely: 6x° +7x—3
ﬁl 10. Factor completely: 35x° —x—12
|
)
% : 1|Page Honors.
J




Sherm’s Happy Homework #5

17. Using interval notation, state the range of the quadratic function: v(x) = ~2(x—1)2 +8

18. Find the x- and y- intercepts of the quadratic function: v(x) = ——2(x—~l)2 +8

1+x-2x"
x+6
a. Evaluate f(O)

b. Find the value of x where f(x) =0

19. Given f(x) =

1
c. Evaluate f(—) in simplified form
c

3|Page Honors



11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

| [SHERM’S HAPPY HOMEWORK # 9]

Graph and label all asymptotes and intercepts

2x* —=x-3
Graph and label all asymptotes and intercepts: l(x) = —x—z—}——
x“—x
Solve for x: 2x —/x =10
Using interval notation, solve for x: 2x° +x* <10x
. . -3
Using interval notation, solve for x: 2 —
x-3 x-1
Graph and label all intercepts and asymptotes: d(x) = 272
Graph and label all intercepts and asymptotes: d(x) =4-2"
Graph and label all intercepts and asymptotes: a’.(x) =2-27"
Graph and label all intercepts and asymptotes: d(x) =27
Graph and label all intercepts and asymptotes: d(x) = 2‘/;

Use your calculator to check your work

x+5
:l(x):xz__xa

Page 2



12.

13.

14.

15.

16.

17.

18.

19.

20.

H# 14 Tuesday November 3, 2015

Use the properties of logarithms to expand the expression as a sum, difference, and/or constant

3
. w
multiple of logarithms: h‘l( j

eVx

Condense the expression to the logarithm of a single quantity:

~1+210g4x—3log4y+%log4 a

e—x _ex
Solve for xin terms of y: y = ———
e +e
216
Solve for x: 36 = ————
(—1+e"")

Solve for x: 4 =log  (x—5)

S.olve for x: log, x+log, (15x—8) =2
Solve for x: log x = log Jx

Solve forx: 2—1In (3 - x)2 =-2

Solve for x: 3% + 6= 55(3")

pageZ Pre-Calculus Honors- work in gfoups of 2 or 3 No Calculators are allowed- Finish for homework
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Sherm’s Happy Homework #19 F and G period

1. Graph one full period, label all maximum and minimum points, and all intercepts:

/ h(x)=3sin2x

2. Graph one full period, label all maximum and minimum points, and all intercepts:

h(x)= 5—2005—753i

3. Graph one full period, label all maximum and minimum points, and all intercepts- (show the
shift) : A(x)=4sin(2x—7)

- 37
4. Graph over the interval[T,?] , label all maximum and minimum points, and all intercepts:

h(x)=-xsin2x

) 5. Graph over the interval[-7, 7], label all maximum and minimum points, and all intercepts:

h(x) =2x+sinx

. 3
6. Solve for x over the interval[0,27) : sinx = Y

3
7. Solve for x over the interval[-7, 7] : cosx = -

razel H ##19 Honors No Calculators



Sherm’s Happy Homework #19 F and G period

18. Review from chapter 3: Solve for x in terms of “e”: ln(x)— 1n(4x—3) =2

3 -3~
3437

19. Review from chapter 3: Solve for x in terms of y: y =

20. Review from chapter 3: Solve for x in terms of “e”: ln(x)+ ln(4x—3) =2

raged H #19 Honors No Calculators
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Sherm’s Happy Happy Homework # 31
m

6. Solve for ALL@O :sin 39(4 cos’ @ —3) =0

7. Solve for 6 suchthat@ €[0,27):2tan” @ —5tan6 =7

8. Graph one full period and label all maximum and minimum points: H(x) =-3+5sin4xcos4x

9. Graph one full period and label all maximum and minimum points as well as any intercept:

.. T 7
A(x)=sinxsin—-cosxcos—
: 2. 2

10. ******Graph one full period and label all intercepts and maximum and minimum points:
H(x) =sinx+cosx [Use sum formula!! LOOK AT # 9]

%)
<
®)
=B
®)
e»
%)
=
]
-
m
<
(D)
=
A
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Additional Chapter 5 problems

|

2016

10. Simplify the trigonometric expression: 2sin x cos® x —2sin® xcos x

_ . . . sinxcosx
11. Simplify the trigonometric expression; ———

—Cco0S2x
2

N , . . l4cos’x
12. Simplify the trigonometric expression: —
sin” x

—2csc’x

2cos’ B-2sin’ .
cos f—sin f§

13. Simplify the trigonometric expression:

N . . . 4sin xcos’ x
14. Simplify the trigonometric expression: —
16sin” xcosx

15. Simplify: cos (2arctan%)

1 -8
16. Simplify: cos| —arccos| —
implify (2 (17))

pa‘ge'l 2
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Additional Chapter 5 problems | 2016

25.

26.

27.

28.

29.

30.

. 4 1
Given ¢ liesin quadrant I and /3 lies in quadrant Ill. Given smazgand tan f :Z. Find

what quadrant [ —« lies in?

Graph one full period h(x) = —5sin 2x cos 2x {label all maximum and minimum points}

Graph one full period h(x) =5+2sin (x -%) {label all maximum and minimum points}

-3x
Graph one full period h(x) =2+ 2sec—4— {label all relative maximum and relative minimum

points and asymptotes}

2—-2cosx

Graph one full period h(x) = {label all relative maximum and relative minimum

sinx
points and asymptotes}

Given j(x)=2sin6x~ 2+/3 cos 6x; find the amplitude, period and shift

page | 4



